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Q,1 MCO

(D c d

(iD b d

(iii) b d

(iv) b d

(v) b d

(VD b

(v)

(viii) d

(ix) b d

(x) b d

(xr) b d

(xii) b d

(xiii) b d

(xlv) d

(xv) b d

(xvi) b d

(xvii) a b

(xviii) b d

(xix) d

(xx) b d
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Wriie your answer using 2-3 sentences only IVIarks
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Wiie youranswer using 2-3 sentences only
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Q,3 Write youranswer using < 75 words-

(tiD

(iv)





(o

O)



,]\

(o

o



t'
lVarksQ.4 Write your answer using 150 words.
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Sample Question Paper

Sublect: B orcience

Paper ll:Anlma PhysioloBy

Tre Iho- sIl5m1,-. Fn--ro od'" o.8l'rheq.e'i:onpip-'

1. Objective Iype MCQ IChoose the correct/ most appropriate answer and u/rite it ]n 1.0eachx

o Which ofthe followins red cell indlces refleds the amo!nt of hemoglobin per indlvid!al red celll
il Hsb tb) t/, v; {r)[/\ - , (d) MC-

{ii)
-Ihe progressjon of a nerve impulse with lhe nodes of Ranvier !s called 

-.

(a)Saltatory conductlon; {b) Transmission; (c) Unmyelinated conduction; (d) Relauve conduction

(iir)

(i,)

(')

(v)

(v r)

(vlli)

(ix)

{x)

('')

(')
{r il

(")
(,v)

lxvi)

(xvil

({v, l

(\i' )

(",)

Very short answer type questions [two frorn e..h !nit i !nswer us]ng 2-3 s€ntencesl 2.0 each x

Wl d arp lh., Ana onr'. D r' s 01. or Lraa \o vou' c, q 6_r:

wl'r arE ho1o'nona\r". eredb\ .5epo. orpr.ra')l

{lv)

vl

(vil

(vri)

d
\L^'" '

m...

\_ Qodn"



(vjii)

Shortanswertype questions uritwise [twofrom each unii;answer precisely us]ng

< 7s wordsl
3.0 each x
A=24.4

{) Whatarethehormonessecretedbvtheneurchypophysis?Whataretheirrespectivefunctlors?

{i)

{iiil

{iv)

{v)

{vl)

(')
lviiil

Long answe.typ€ questlons !nlt wis€ with interfal choice [Answ€r prec]s€ly using
1s0 wordt

5.0 eich x

4 = 2O.O

(i) What€re the horr.iones secreted bv the aden.hvooDhvsls? What are their resDeciive furcuons?

(ii)

liit)

(iv)



Ysa \r:t tjf
SThn

l. Nephron is a i\4icroscopic st! uclllle of
a) Lunss b) lleafl
ifr{ sli5m €{afl B ?

er) ffizn q) F{c FI

Obiective tvpe of Question

c) Kidncy

q) Iqr 6T

d) Liver

<) -re( 6T

6.

l he tnechanism olere|gr- prodlrctior !hrc ugh splining oIATP and P.C. is called as :

a) Lactic Acid b) CaIboh),drate c) Aiactic A.id d) Fai

{.d.fr" olrr q1.d}"6 d fi{.i-{s il sc-j sq<q d trad t ?

sr) AI-m qftis q) orfuigs n) ardfuo qfus E) .rf,r

\c' i< \rle o :|,c.!J p,o0 lci'o' "'.el .

a) Milochon.lria b) Cilromosomes c) Nucleus d) Ciolgi Apparatus

or?16r d 6ri rqq q;ri .le; as t ?

3l) Mitochondria e) ffi e) qftrafil <) rffi lqizn

TIe greal-est nufiber ofwhite muscle fiber all loul1d in :

a) Marathon runner b) Sprinier c) Cr-oss Corntn Runner d) Middle distance Runner
qiilo qr:r i e$< fufrq g qt Gr,i t-,?
e) icw rl++ t
e) +do ds w+o ,4

.t) ol{{ r* t't4o i
rJ"qtaq1ff$Er'rq6i

a1 fi-+ra:: s) aF.fergg-ff <) !)Aq

tLa,"41-{k'*

luyollbrill ronsisl ol :

a) Aci;re and Myosir b) Troponin and Tropoml,osir c) Nl-vosin d) None otabove

qt <rqJ-fl ,,o Erwnaft++. .,.4 ^?) Etlqim q q fl€ Tat

qrffifie n Erili?
er) tlfui cd qrqTfir{

r+) qa}ftir

'l'herrno regulatory centre is at :

a) Cerebelhm b) l,,ledulla oblongala c) Hypothelanus d) Thalanl,.rs

nlqqq Ii!.rq d-q +dT i ?

Rrldi: - I l.cl,. , i rl,e bod) d'e

a) Viramj s b) I'.,linerals c) Carbohydrales d)Phosphocreatiie

Irft{ d G'lis,r qmt t ?

.x) EE q]tff$ q) lSEr GTdf,iner q) Emii+iirrs z.) i$qs

h\rW,'NP.s

3T) ffir



-/ 1l The tern 'Hypokinctics' lelers to that phase olphysical cducalior $herc all1orLnt of rru(cular

activily is :

al \r, r!ieri. D,lr,.ul.l. Ln' cr\lnre.lirrr'eo! r<- dl\o' e^

;,id;ift" :rftRo I?re,r dl sq 3${sn a'r em rion <a 6 I 6sl qriqPrqi o1

.rfdftlndi o1 qw drft t ?

cr) qqlq e) s'rqlq e) sier i -uro E) ord qfr

Muscle typirg can be determired with thc help of i

u) Culo.l,r.i"r. b) N'luscle biopsy c) specirophoiorneter d) Radionerrl

+ris+nffii $ q6R 1ik4d lii Hli i ?

.rTt +dii frer zrrT

e) @ qr< grr

For rnuscle contraction the irnmediate source ofe ers/ is :

a) Blood slucose b) Glycogan c) A.T.P' ' d) Phosphocreatine

;miftr.i; of+4{rq d ltr e.r< '=st 
oT €Id t ?

9.

10.

11.

t2

ii.

q) qffifiEii 01 qffi iliT
q) iM ffdr ilr

Frosbite is a rnedical problel occuts iI :

a) Cold enYironmo t b) High Ahiiude c) Ilot Enlirormert d)lligh Pressute Area

'qrsr{d' ftE;*iq Trfiq 4Ei +fr *?

c) ds ..iolc
e) c.a.fi

ei) zit drrlc i
e) dt *errl i

What is ar1 afiletic heart :

a) It is a palhological conditiorr

b) c) lt is an abnorrnal condition ofthe heat

biological lo\\' ofuse

ftrar.€t ti;t-gcr et t ?

el) w rllc+o fte,fa t
{J) qE E{q a1 srqETir.l R!ri- t

e) rdl"il;q
<) urciiffifur

a) -ddern
s) 3+16 .ng qqrs srd en i

b) tt is a hlpotrophic conditior

d)lt is a Donnal condition that follolls the

'.,

q) q€ ET$dfu-fi fterft i
E) s€ sEr;q fterfa t d \ifa-fi i'iqq or qi1E

6{ff t
The lnusclo ofa trai ed athlete car bum fai atuplo tilnes theratethis occur in ar un[aiie'l

a) Three b) Four c) Five d ) Six

ffi ie",e d qirrifi oqr ol +'qQ'rfko fttddl al qffi s't wlad Eti d <r

d fi,oS qr d <{ r) 'flfud F.d} t ?

i{) fr{ q) q{ ir) qi-r <) E,

14- Moscles Iactic acid can be rtoro'ed afler the exercisc wilh in :



d)60

iio fi4d

d ) Sleepless
I6. Lack ofJltress carl cause

a) Loss olfluid b)

gr{ffl d 3 fl" Eqi +
31) n{af,r 6T 3l!lq

. q{) qiqifuq aT rE=I

Loss of\\'eighi o) N{Lrscle clarnps

z;iq {ir al{oT tr
q) qsc 4l 3ll]rq

E) .rfl

1i

18.

19.
d ) None ofthem

() a{q q +' e i6r

Proteil metabolisn c) Oxidation d ) Anaerobic

q) !t&{ ffifA*sq
q) qfltfi-f nerdfuGq

a) 20 mirutes b) 2 dals c) 3 hours . d )

ffi g* d.qTqTq A watq {di qqq ii qqq ?t{ff i ?

ar) zo 1tr-ie g) <l lto n) frr EA <)

15. Largest chernical facior) ofihe body is :

J) I i\ c- br Parlclea:

{f\: 'F AeT "r : i-' 
- 

' '-t '

b)P Sali!ary Gland d ) Piiuilal,\, glands

s) q-Ed d) 3r-{i{rq s) El{ qtrq <) frCp qct

lD a good standing posture tire \\'eight ofthe body should rest ever-1one

a) ih" t\lo legs b) ile two feet c) ihe two lip doiris

go+or a umra r+i ri dc er +rrnr tr
i) a=ii .r+ * a) <t=ii tri w
o) ++ e-i *f+, * e) <J{l 'iiil qi

One defornity may lead to rhe d.uetnpm"nr Janothel knock knees may be a result of

a) Flat feet b) bow legs c) genu legs - d ) scoliosis

*-#C @ *r{t ffi 6I ecrff t t gelr zorm a;r ry t ?

;, # # ' 's) .rjrofi zlr l:) ge< zrn E) q{'l€ddI (dfi{sr)

Prorern'r\.r\cd'_.. rr.:-la_.ot,t-a..tor
a) Adtu b) M)osir c) Both tctin & N{yosi

qrqifrTq. s{4r n enFl'd s.lzl{ t ?

3r) {A-.{ q) qr$ftr q) qfaar !a qlsi?l{ <lni

20. Lactic acid is the BY Product of
b) Aerobic metabolism b)

lnetabolism

ai?-6(fuciqi?
3T) c{iiG.6 trcdtftroq

<r) eilRtr



Very Short Answer t)'pe Questions

,- Q.1 Define erercisc Physiology?

rTft{ hqT Bfl-i d qfull1}fr 6i I

Q.2 Define 02 debt ?

s-rfalTsc 7z"T qjt qRqrBe of ?

Q.3 Definc second llind ?

ffi< ftis Eir qfurrftr at I

Q.4 What do you understand bl aerobic erercise ?

qifi-+ qqq t 3ac @r sryi t ?

Q.5 Define posture ?

qrgfl o) qfu{f+d 6i r



Q.6 What is the meaEing of equilibrium ?

Tt?tFtq zi PJ2l zff ts /

Q. 7 What is the meaning of fatigue ?

er4r{ or 3TPJ 4qr t ?

Q, 8 Define Physical fitness ?

ffiRr6 <tu air qfufiBo oi ;

Q. 9 What is macromere ?

qT{+t+w rqr i ?

Q. 10 What is synapse ?

srgiR] qql t :



ShortAnswerffpeQnestions

Q. I Erplain thermodynanrics of muscle contlactior in brief ?

qffio qi{{qfuq €orc di {ierq i qrcqr of ?

Q.2 Describe the kreb's rycle ?

*e "m ori?s{"T Afuc ?

- Q.3 Describe the effect oflorg training otr the heart ?

EEq w €ffi-{ sPErq d !"n!i 4r !fi +l1irt ?



. Q.,l l)escribc a structure ofsarcoincrc ofa muscle fiber ?

..t 1" n-r--c - r rr? €ti>

Q.5 Describe ihc various energl systems in the body ?

Iltli o1 fiftq sqi e"rfui 6T Iiqrq Afqq ?

Q.6 What are the physiological aspect of development of stretrgth ?

droo/{lfu d ftro-rq q fufilqHfu-f,d a{Tq[q @T i ?

Q.7 Explain nene to nen,e synapse ?

lr$ S rr$ glgiw di tqnqr ol ?



Q.8 F\plaio etlccl of hol climate oD work capacif] :

/ orS sqar qq.rd qrorqr"l d c?Trs ai a,h of ?



Long Ansrver type Question

Q. 1 Erplain effect ol exercise on muscular system ?

arqq or qr{{iRrq ria w qgc qo qqrd 4T qrqr oi ?

Q. 2 Elplain heat production duc to muscula. contraction ?

qi{iPTq re-=rr d onq ssi scl<r oT torqr oi ?



Q. 3 Explain solidit] filament theory ?

€TRr ft,Eri€ ft.qm fl tqr@l oi ?

Q. 4 Describe cffects 0f cold ard high altitude on physical pcrlbrmance 'f

q{ rq s-r qiTfirT or ir{iRfi sE:Jc T.{ 
qsq qri !-flAi trT irnfn d ?


